
No. of Printed Pages : 6 
	

MCO-05 

MASTER OF COMMERCE 

Term-End Examination 

December, 2013 	05866 
MCO-05 : ACCOUNTING FOR MANAGERIAL 

DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. What do you understand by Accounting concepts 
and conventions ? Explain any three Accounting 
concepts with their accounting implications. 5+15=20 

2. Explain with examples common size statements 
and comparative statements. 	 10+10=20 

3. Explain the concepts of 'Zero Based Budgeting° 
and 'Performance Budgeting' and state their 
advantages. 	 10+10=20 

4. What is standard costing ? State the steps it 
involves and the advantages it provides. 4+6+10=20 

5. Explain the concepts of 'marginal' cost and 
'marginal costing', and discuss how marginal 
costing is regarded a useful tool in managerial 
decision-making. 	 5+15=20 
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6. What do you understand by the term 'Reporting 

to Management' ? Discuss briefly the matter that 

you would deal with while reporting to 	6+8+6=20 

(a) Board of Directors and 

(b) Marketing Managers. 

7. 	(a) Mr. Ram Kumar has a sum of Z 3,00,000 

which is invested in a business. He wishes 

15% return on his fund. It is revealed from 

the present cost data analysis that variable 

costs of operation are 60% of sales and fixed 

costs are Z 1,50,000 p.a. On the basis of this 

information, you are required to find out : 

(i) Sales volume to earn 15% return 

(ii) Shut-down point of business, if he 

would spend Z 50,000 even if business 

has to be closed. 	 5+5+10=20 

(b) State the essentials for success of 

'responsibility accounting'. 

8. 	Standard Cost of product is : 

Time : 	6 hours per unit 

Rate : 	Z 4 per hour 

Actual cost : 

Production 	1,500 units 

Hour taken 	7,600 

Idle time (hour) 400  

Total hour 	8.000 

5+5+5+5=20 
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6. 	̀31-q-4-T 	 3Trq 'EfflreA f ? 	6+8+6=20 

(a) kiiiIrich 4-1u5c4 

(b) f4trurff -51-49 	-stt-d-q.9 	TITF{ 3TTcr rs3-11 

urr-ff 	44, d-lchl tip rc?r 1.1-1R I 

	

7. 	(a) 	sittlH HR 	'1T 3 1.-{g t.)44 t 	-) 	 

rcir-Ii1RTIcl I 	3-791.  o-o-i TR 15% Wr 1,1cglq 	

7410 t I .-41:17 (-1141d Tirt4 	f'cqui A 

gild 611 	061clkilq tir41(1•1 m1 4ftacfl~1M 

01+Ici fref 'TT 60% . ?-,TT T-9-Tft (1141cf 1,50,000 

tl 	 374R ITT 3Trtr 

t : 	 5+5+10=20 

(i) 15% fir 51czll- 	ch(4 	oh)  

Hill; 

(ii) ()4cM141 .0 cht4 	 °Lick-114 

Gi-q 11.6. 717 9.41-  dq 50,000 	c4“4 

4  I 

(b) 	drRq1 4171 c(.11c1111 	3-Tid71-W cicolf cn1 ()wpm 	

	

8. 	-) 3-0TK 	71:11q c11,10 F-14-1cfcl f : 	5+5+5+5=20 

6 17451fdT*-11 

4 A Nudl 

ciRci cicte (1111c1 : 

1,500 T*-ftzit 

-9-awr 711- 	7,600 

1•2i T11474 cgit 	400  

rl 	 8,000 
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71.111311-05 :11-4ETWItf fa Q 	reef 

77 • 3 ei2 
	

37-NWT17 37W • 100 

57 :70 

""--4:TifW 777Y  	/ Mft 3 	041/1 

1. 3TatrrTurr3T w 4o-q14 -(43-TrEr*Err TFr7 ? 

31-qtnTurr4 * (.(gict)-1 31-1-s4W 
oemserr*If---4R I 	 5+15=20 

2. 3T1WR f-dWaTi j vilicHcb f4q71:0 	dcltuf 

T11-0 c411(.961f 	 10+10=20 

3. 31-r4R 	' Qa f9-tscrrTi 	44)(--vot 

.44 rt.zir 	'ff4f 
10+10=20 

4. wi14 01,1d rN tci,1 qEIT t? 71 11 (41.1 	c4 4.f Piro 
tErr -9**Err -riTt? 	 4+6+10=20 

5. *gfiff 	41:It (114Icf c1 i_11c11-1 	401,(-1A 
oe4Itse11 	'ff41 	f-0-zrff 	TrITrrff ovicr 

	

(41.1,1t.  ztrzhTff*T f--44qff -If-4R I 	 5+15=20 
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Total Labour Cost amounted to Z 40,000. Calculate 
(a) Labour Cost of Variance 
(b) Labour Rate Variance 
(c) Labour Efficiency Variance and 
(d) Labour Idle Time Variance. 

9. 	The following is the Balance Sheet of X Y Ltd. : 
Balance sheet 	 4x5=20 

Z Z 
Equity Share Capital 80,000 Intangible Assets 48,000 
Reserver and Surplus 40,000 Fixed Assets 1,12,000 
Mortgage 64,000 Investments 8,000 
Bank overdraft 8,000 Stock 24,000 
Creditors 32,000 Debtors 24,000 
Provision for Tax 16,000 Bank Balance 24,000 

2,40,000 2,40,000 

Calculate the following ratios : 
(a) Liquid Ratio 
(b) Current Ratio 
(c) Total Debt Equity 
(d) Proprietory Ratio 
(e) Gearing Ratio 
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Tsgri cii4 1cf 40,000 	2TT I 
(a) 351:1 oind 

(b) tf 'FT-47T 

(c) 5A-14 Ohl wraT fa-qTtir2,Tr 
(d) 5;114 	7:11:17T fa--qTur 

9. 	faidSri. f 31fk fqTar 19-PT t : 	 4x5=20 
aTrrtfw 

z z 
80,000 48,000 -midi- 	3#11:1 311:14 	-14-14irt4 

40,000 1,12,000 Tfvzi -R-4 a-Trat-  7:PAT 	..14-1417144i 

--Al-  64,000 8,000 FIF-141 +I 

tk 31fqfq--*-Isi 8,000 rf-d-zrr 24,000 

32,000 24,000 -Kit -Kit 

16,000 *a.) 	ti 24,000 cf.,4-k-r--4 31-r 	7 

2,40,000 2,40,000 

-14-11 cnd 3T-frrd't 	: 

(a) cl 	cI I 31-q-cfrff 
(b) -Ic 3 L4 r1 

(c) *of ff-Wt 31TO 
(d) I 	ccf 3-17M 
(e) "t01- 	3-1-11:17 
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